
Explanation: m/DIV: One graduation mark equals .. µm, Deformation value: Commutators are often 

not only exposed to large flow forces, but also to high thermal stresses. This leads to deformations. The 
measured µm value represents the maximum deformation. 
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Graph Conditions rpm T[°C] µm /DIV Deformation 
value 

Max segment 
jumps 

1 High performance 40000 150 4 µm  µm    

2 After heating 3000 150 4 µm    µm    

3 Final state 3000 20 4 µm    µm    

4 Initial state 3000 20 4 µm    µm    


